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CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY (HINGLISH)

THE BASIC BONDING AND MOLECULAR STRUCTURE

Solved Problem

1. There are two constitutional isomers with the formula CoHgO .

Write structural formulas of these isomers .

o View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_auXruND84XWk

H:CW’,[.'"]_ HlL"' - L“'H} H L-- ":H
Dy “"'E'—“'Hﬂ.:‘ . 1 #
II‘ I I ‘\U"\-T
] CH, CH; CH,

) (A (B iCy

o View Text Solution

3. Predict the relative energies of the following resonating structures .
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o View Text Solution



https://dl.doubtnut.com/l/_VXjqjndXrFDp
https://dl.doubtnut.com/l/_4ay4RIyV434i

4.The following is one way of writing the structure of the nitrate ion:

ol
b 1"1.._ i
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|
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However ,considerable physical evidence indicates that all three
nitrogen -oxygen bonds are equivalent and that they have the same
length , a bond distance between that expected for a nitrogen -oxygen

single bond and a nitrogen -oxygen double bond . Explain this terms

of resonance theory.

o View Text Solution



https://dl.doubtnut.com/l/_OfT1amxDeDqX

5. The following Lewis/Kelule structures (A) - (L) are isomeric (with

molecular formula CNyH, )

H
H-CmN—8—H :C=N—RH,  HN—C=N SC=N—§
H
(A) B) i) (D)
N=C=NH, H&—N=N H—NeC=RN—H :C=N—NH,
(E) (F) (G) {H)

N=N—CH, H—C=N=N—H H—R—-CH, H—R—R—=C—H
il i Ky L)

Which of these structures match the following properties ? Indicate
with letters (A) to (L) . If no structure fits the property write the letter
X.

Which of the structures have at least one nitrogen atom with a (+)

formal charge ?

o View Text Solution

6. The following Lewis/Kelule structures (A) - (L) are isomeric (with

molecular formula CNyH, )


https://dl.doubtnut.com/l/_8krhGbmnE4UO
https://dl.doubtnut.com/l/_q1TZ5m4sMjZa

H

H-CmN—N—H :C=N—HNH, HN—C=N C—nN—R
H
(A) B} () (18]}
N=C=NH, H&—N=N H-N=C=N—H :C=N—NH,
(E) iF) G {H)

Ne=N—EH, H—C=N=N—H §—N—-CH, H-R-R—C—H
n 0 () L)

Which of these structures match the following properties ? Indicate
with letters (A) to (L) . If no structure fits the property write the letter
X.

Which of the structures have at least one nitrogen atom with a (-)

formal charge ?

o View Text Solution

7. The following Lewis/Kelule structures (A) - (L) are isomeric (with

molecular formula CNyH, )

H
H—C=N—N—H :«C=N—NH, HN-C=N SC—N—R
H
(A) 1B} ) (D)}
N=C=NH, HE—N=N H-N=C=N_H «C=N—NH
(E) iF) G) {H)

Ne=N—CH, H—C==N=N—H N=N—-CH, H-KN—-RK=C—H
it i (K) (L}


https://dl.doubtnut.com/l/_q1TZ5m4sMjZa
https://dl.doubtnut.com/l/_lRJnPillmiba

Which of these structures match the following properties ? Indicate
with letters (A) to (L) . If no structure fits the property write the letter
X.

Which of the structures have at least one carbon atom with a (-)

formal charge ?

o View Text Solution

8. The following Lewis/Kelule structures (A) - (L) are isomeric (with

molecular formula C N, H, )

H
H-CmN—N—H C=N—NH, HN—C=N JC—N—H
H
(A) (B) ([} (D)
N=C=NH, HC—~N=N H—RNemCe=N—_H :C=N—HH,
{E} (F}) (i) {H)

Ne=N—CH, H—C=N=N—H B=R-CH, H-R-KR=C—H
{1 {5 (K} L}

Which of these structures match the following properties ? Indicate
with letters (A) to (L) . If no structure fits the property write the letter
X.

Which of the structures have electron deficient heavy atoms (N or C) ?


https://dl.doubtnut.com/l/_lRJnPillmiba
https://dl.doubtnut.com/l/_kWjK5iGHyB9t

o View Text Solution

9. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

o View Text Solution

10. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_kWjK5iGHyB9t
https://dl.doubtnut.com/l/_7p0WzgHV7YYF
https://dl.doubtnut.com/l/_d2UZrC1PSFxm

° View Text Solution

11. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_d2UZrC1PSFxm
https://dl.doubtnut.com/l/_xIp9T0pwC3jE

o View Text Solution

12. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

o View Text Solution



https://dl.doubtnut.com/l/_xIp9T0pwC3jE
https://dl.doubtnut.com/l/_KvLn98IBLFC4

13. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

° View Text Solution

14. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_oyVesvfCM5wR
https://dl.doubtnut.com/l/_kvm2e3xp9O39

o View Text Solution

15. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_kvm2e3xp9O39
https://dl.doubtnut.com/l/_8n2NCzq8PnFK

o View Text Solution

16. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_8n2NCzq8PnFK
https://dl.doubtnut.com/l/_7I6C93On3fnQ

o View Text Solution

17. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_7I6C93On3fnQ
https://dl.doubtnut.com/l/_3gE1JsFm073I

o View Text Solution

18. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

0

o

o View Text Solution



https://dl.doubtnut.com/l/_3gE1JsFm073I
https://dl.doubtnut.com/l/_19IjfCeYRHbL

19. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

o View Text Solution

20. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_19IjfCeYRHbL
https://dl.doubtnut.com/l/_uShjwnTVQR8q
https://dl.doubtnut.com/l/_2Lk8vuENDQKa

fwt'}

o View Text Solution

21. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

Ny

o View Text Solution

22. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_2Lk8vuENDQKa
https://dl.doubtnut.com/l/_kOAoDnjD7foj
https://dl.doubtnut.com/l/_mOYYORdyjvDu

N —H

o View Text Solution

23. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

o View Text Solution



https://dl.doubtnut.com/l/_mOYYORdyjvDu
https://dl.doubtnut.com/l/_YYmTSX3TDBHV
https://dl.doubtnut.com/l/_6vF29tODT1a9

24. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

iy

° View Text Solution

25. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_6vF29tODT1a9
https://dl.doubtnut.com/l/_MUVI41NxfpHB

o View Text Solution

26. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_MUVI41NxfpHB
https://dl.doubtnut.com/l/_QX3Z1lc2MsOO

° View Text Solution

27. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

o View Text Solution



https://dl.doubtnut.com/l/_QX3Z1lc2MsOO
https://dl.doubtnut.com/l/_yt0C4qenUCgr

28. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

o

o View Text Solution

29. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

Wﬂr

o View Text Solution



https://dl.doubtnut.com/l/_yt0C4qenUCgr
https://dl.doubtnut.com/l/_OeCzkkgbL9zP
https://dl.doubtnut.com/l/_fL6mAVmdkCgr

30. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

o View Text Solution

31. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_zr3nOe2J75ft
https://dl.doubtnut.com/l/_JlLRcT1r50qK

o View Text Solution

32. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

¥



https://dl.doubtnut.com/l/_JlLRcT1r50qK
https://dl.doubtnut.com/l/_p6wd9QqHVIjL

I & View Text Solution I

33. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

N

o View Text Solution

34. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_p6wd9QqHVIjL
https://dl.doubtnut.com/l/_Pl9XNPxnzKQa
https://dl.doubtnut.com/l/_kbeqMMdO5nfr

o View Text Solution

35. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_kbeqMMdO5nfr
https://dl.doubtnut.com/l/_b6wTT2QbZbFu

o View Text Solution

36. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.


https://dl.doubtnut.com/l/_b6wTT2QbZbFu
https://dl.doubtnut.com/l/_WNRYsEMpayGy

O

o View Text Solution

37. Write the possible structures for the following molecules .Show the

direction of the movement of electrons with the help of arrows.

*

| SN

° View Text Solution



https://dl.doubtnut.com/l/_WNRYsEMpayGy
https://dl.doubtnut.com/l/_OjOBc0SU0v5o

38. Write the possible structures for the following molecules .Show

the direction of the movement of electrons with the help of arrows.

° View Text Solution

39. How are the hyperconjugating structures drawn ?

o View Text Solution



https://dl.doubtnut.com/l/_sW7NuI1soapc
https://dl.doubtnut.com/l/_H6DLZa0AuWsS

40. Compare the stabilites of the following alkenes

@:1 0=

in) (h)

o View Text Solution

41. Compare the stabilites of the following alkenes

(m} (b) ich

o View Text Solution



https://dl.doubtnut.com/l/_GaK3ryVB6rqQ
https://dl.doubtnut.com/l/_sLrbyZWCh1Xg
https://dl.doubtnut.com/l/_TDYzP0rVemIN

42. Compare the stabilites of the following alkenes

H, CH, H
Y ™ #
= CH, _I:" -
o, o ew,
y \
CH, CH,

o View Text Solution

43. Compare the stabilites of the following alkenes

1-Hexene 2-Hexene 3-Hexene

(a) (b) (c)

o View Text Solution



https://dl.doubtnut.com/l/_TDYzP0rVemIN
https://dl.doubtnut.com/l/_amEnRrNRfkPM

44. Compare the stabilites of the following alkenes

o View Text Solution

45. Compare the stabilites of the following alkenes

() CO

jm) (h)

o View Text Solution



https://dl.doubtnut.com/l/_JoqEGiutTvNv
https://dl.doubtnut.com/l/_wb7vJXwGtFEc

46. Compare the stabilites of the following alkenes

L
L

im) i

o View Text Solution

47. Compare the stabilites of the following alkenes

ta) ik

o View Text Solution



https://dl.doubtnut.com/l/_GVJloh50evUU
https://dl.doubtnut.com/l/_A9ldKda5f65j
https://dl.doubtnut.com/l/_A5TypUgOJCdv

48. Compare the stabilites of the following alkenes

A A

=) )

o View Text Solution

49. Compare the stabilites of the following alkenes

o (Lo
)

ia)

o View Text Solution



https://dl.doubtnut.com/l/_A5TypUgOJCdv
https://dl.doubtnut.com/l/_5YDjzmyKoK0s

50. Compare the stabilites of the following alkenes

CH;
|
(@) CH; — C =CH — CH,

CHs

|
(b) CH; — CH = CH — CH»

o View Text Solution

51. Compare the stabilites of the following alkenes

(=) (b)

CH,

|
H,C = C —CH; — CH3

o View Text Solution



https://dl.doubtnut.com/l/_xfihlEg2I0NV
https://dl.doubtnut.com/l/_VXOrmsBIT5LN

52. Compare the stabilites of the following alkenes
CH; - O —-CH = CH,

CH; - CH = CH — CH;

° View Text Solution

53. Compare the stabilities of the following carbanions :

CH; — CH, — CH,
(a)

NO> — CHy — CH>
(b)

o View Text Solution



https://dl.doubtnut.com/l/_dQjQk6inKLzW
https://dl.doubtnut.com/l/_KU7MVVj6XVQJ

54. Compare the stabilities of the following carbanions :

L) Cy

o View Text Solution



https://dl.doubtnut.com/l/_Vt5RXSF2jZWG

55. Compare the stabilities of the following carbanions :

& ] &

) (LT

o View Text Solution

56. Compare the stabilities of the following carbanions :

m—g—m
Cl
(a)
F-C-F
|
F
(b)

o View Text Solution



https://dl.doubtnut.com/l/_HcnuddfjuS26
https://dl.doubtnut.com/l/_53WcPkYLHetz

57. Compare the stabilities of the following carbanions :

' NMie,
(L] ibi il

o View Text Solution

58. Compare the stabilities of the following carbanions :

O &

b (LY

o View Text Solution



https://dl.doubtnut.com/l/_ZF3xd8gERLIg
https://dl.doubtnut.com/l/_Oeia9efAA98n
https://dl.doubtnut.com/l/_J9r6D1batOhm

59. Compare the stabilities of the following carbanions :

Cl

|
cl— C - CH,

F
(b)

o View Text Solution

60. Compare the stabilities of the following carbanions :

0

I _
[(Hy —C—CH; HO ={H—CH;,

imh il

o View Text Solution



https://dl.doubtnut.com/l/_J9r6D1batOhm
https://dl.doubtnut.com/l/_65M4uCR7w2dj

61. Compare the stabilities of the following carbanions :

H,C=CH-NH HN=CH-NH
(a) (b)

o View Text Solution

62. Compare the stabilities of the following carbanions :

0 0

o View Text Solution



https://dl.doubtnut.com/l/_Iwvz0EuoDHcn
https://dl.doubtnut.com/l/_fZccsU4kHmtQ

63. Compare the stabilities of the following intermediates :

CH, ©H,

S
%} i)

o View Text Solution



https://dl.doubtnut.com/l/_G9g9Tq1vDkF3

64. Compare the stabilities of the following intermediates :

g +*

{m) (k)

o View Text Solution

65. Compare the stabilities of the following intermediates :

J’_
H-C-H
|
H
(a)

J’_
H-C-H
|
H

o View Text Solution



https://dl.doubtnut.com/l/_BwspYHzOpEfy
https://dl.doubtnut.com/l/_nM7qwUIugyHy

66. Compare the stabilities of the following intermediates :

CH, Ch,
EH%IH{, CD, 5{:1:.
(ay (h)

o View Text Solution



https://dl.doubtnut.com/l/_6lzaqFiiKxyT

67. Compare the stabilities of the following intermediates :
: -

]

o View Text Solution

68. Compare the stabilities of the following intermediates :
H=C-CH,—-CH,
(a)

+
H,C - CH — CHy; — CH;
()


https://dl.doubtnut.com/l/_AuDPJDow1uVV
https://dl.doubtnut.com/l/_qphe2MgjZSCQ

o View Text Solution

69. Compare the stabilities of the following intermediates :
+
CH; — O — CH,
(a)

+
CH; — CH, — CH,
()

o View Text Solution



https://dl.doubtnut.com/l/_qphe2MgjZSCQ
https://dl.doubtnut.com/l/_xzHzqRY4jeoP

70. Compare the stabilities of the following intermediates :

M,C
i)

o View Text Solution

71. Compare the stabilities of the following intermediates :

+
Cl - CH, — CH,
(a)


https://dl.doubtnut.com/l/_zjQaO4atlZGt
https://dl.doubtnut.com/l/_Y6DnaTirlHuB

+
Cl—-CH, — CHy, — CH,
(b)

o View Text Solution

72. Compare the stabilities of the following intermediates :

m“-..E_.-'CH' ml..l-.-'m-'
|

"

iml

o View Text Solution

73. Write a condensed structural formula for the compound that

follows :


https://dl.doubtnut.com/l/_Y6DnaTirlHuB
https://dl.doubtnut.com/l/_0eMn6JKM7wyv
https://dl.doubtnut.com/l/_Rqa25VXtiljC

H H

o= —H
I

H H
H

o View Text Solution

74. Write the bond -line formula for

CH3CHCH,CH,CH>,OH

|
CHj

o View Text Solution

Additional Objective Questions Single Correct Choice Type

1.CHs1s is a halide .

A. vicinal


https://dl.doubtnut.com/l/_Rqa25VXtiljC
https://dl.doubtnut.com/l/_FSUa1t233Jc1
https://dl.doubtnut.com/l/_boc4b16BRnwl

B. secondary

C. geminal

D. vinyl

Answer: C

o View Text Solution

2. Identify the correct order of boiling point of the following
compounds :
CH?,CHQC]HQCHQOH CH30}2I2CHO CH?,CHQC?:H2COOH
Al>2>3
B.3>1>2
Cl1>3>2

D.3>2>1


https://dl.doubtnut.com/l/_boc4b16BRnwl
https://dl.doubtnut.com/l/_YOfhDRhVD6tR

Answer: B

o View Text Solution

3. Total number of 2° carbon present in given compound is x, so the

valueof z — 7is

e 1

A.6
B.8

C.9


https://dl.doubtnut.com/l/_YOfhDRhVD6tR
https://dl.doubtnut.com/l/_uOTk2Qm7ZNpH

D. None of these

Answer: A

o View Text Solution

4. Choose the correct statement from the ones given below for the

two anilinium ion structures .

! HH-| HH|

A. 1l is not acceptable canonical structure because carbonium ions

are less stable than ammonium ions.


https://dl.doubtnut.com/l/_uOTk2Qm7ZNpH
https://dl.doubtnut.com/l/_gsU7iaYpaLQi

B.Il is not an acceptable canonical structure because it is non

aromatic.

C.Il'is not an acceptable canonical structure because the nitrogen

has 10 valence shell electrons .

D. Il is not acceptable canonical structure .

Answer: C

° View Text Solution

5.What is the molecular formula of carvone ?

L wrvoms
erspomsabde Tod osbomid ol ype armini )


https://dl.doubtnut.com/l/_gsU7iaYpaLQi
https://dl.doubtnut.com/l/_d3dOFqta7UNE

A. CyH,,O

B. 010H14O

C. C1oH120

D. CyH1,0

Answer: B

o View Text Solution

6. The number of sigma of pi-bonds in butene 3-yne are

A. 5 sigma and 5 pi

B. 7 sigma and 3 pi

C.8 sigma and 2 pi

D. 6 sigma and 4 pi.

Answer: B

[ -


https://dl.doubtnut.com/l/_d3dOFqta7UNE
https://dl.doubtnut.com/l/_qbynj3lvS385

| @ View Text Solution

7. For 1 - methoxy- 1,3- butadience ,which of the following resonating
structure is the least stable ?
+ o+
A H,C —CH—-Ch=CH -0 —CH;j;
+ -
B.H,C —-CH=CH—-CH =0 —CHj3;
+ + +
CH,C-CH—-CH-CH-0—-CH;

+ -
D.H,C = CH — CH — CH = O — CHj

Answer: C

o View Text Solution

8. Most stable carbanion is

A CH,


https://dl.doubtnut.com/l/_qbynj3lvS385
https://dl.doubtnut.com/l/_RAaycLMNZjlE
https://dl.doubtnut.com/l/_wOzKOEsTs1Di

B. CH;CH,

NO,
C.
CH ]
D.
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_wOzKOEsTs1Di

9.The correct stability order for the following species is

" /'l\nf““a (" /*\/l\
{lﬂl/l\ﬂ/k (V) /\./l\

AIl > 1V > 1> 111
B.I>1II>III>1V
CII>1>1V >1I1

D.I > 1III >1I > 1V

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_B9drxP7bl743

10. Select the structures that are not resonance structures of the

same molecule .

ﬂ' -
SNFNF &
A W

Answer: D

o View Text Solution

11. Which of the following is not a valid resonating structure ?



https://dl.doubtnut.com/l/_de9AJLE0IIee
https://dl.doubtnut.com/l/_WLgQPZKnaxSZ

H@
i

Answer: D



https://dl.doubtnut.com/l/_WLgQPZKnaxSZ

[ o View Text Solution

12. Choose the incorrect statement about the following compounds .

_-H

3 §
|
® H__.HIHN ~H - H_,r-'(-'i"_“d-‘“"

b by

(1)

A. Compounds (1) and (l1) are constitutional isomers .
B. Compounds (I) and (lll) are resonance structures
C. Compounds (1) and (IV) are resonance structures

D. Compounds (1) and (IV) are resonance structures .

Answer: C


https://dl.doubtnut.com/l/_WLgQPZKnaxSZ
https://dl.doubtnut.com/l/_WIif5XBYenXl

o View Text Solution

13. The correct stability order of the following resonance structure is

WH,C — Xr =N () H,C = th =N () H25 —N=N (V)

+
HC —N=N

A (I) > (II) > (IV) > (1II)
B.(I) > (III) > (II) > (IV)
C.(II) > (I) > (III) > (IV)

D.(III) > (I) > (IV) > (II)

Answer: B

o View Text Solution

14. Which of the following resonance structures contribute the most

to the resonance hybrid ?


https://dl.doubtnut.com/l/_WIif5XBYenXl
https://dl.doubtnut.com/l/_ZZelxtEAYGnr
https://dl.doubtnut.com/l/_zYUDcu8dk4vU

O HO RO O

Answer: D



https://dl.doubtnut.com/l/_zYUDcu8dk4vU

| @J View Text Solution

15. Among the given cations , the most stable carbonium ion is

A. sec-butyl

B. tert-butyl

C. n-butyl

D. none of these

Answer: B

o View Text Solution

+
16.H2C — CH - CH2 - ﬁ - CHQ
CH,

Resonance hybrid of the carbocation is

0+ 0+ d+
A.HQC :CH: CHQZ ﬁ :CH2
CH,
d+


https://dl.doubtnut.com/l/_zYUDcu8dk4vU
https://dl.doubtnut.com/l/_KG8yWg8sVtRY
https://dl.doubtnut.com/l/_g3e4tOLjxaDR

5+
BHQC:CH—CHQ— ﬁy :CH2

CH>
5+
ot 5+
C.Hy,C =CH — CH, — ? = CH>
CH>
0+

0+ d+
D.H,C =CH — CHy — CHy = CH = CH>

Answer: B

o View Text Solution

17. Which of the following is the most stable carbocation ?


https://dl.doubtnut.com/l/_g3e4tOLjxaDR
https://dl.doubtnut.com/l/_X5jI48kPplxm

Answer: D

o View Text Solution

18. Rank the following free radicals in order of decreasing stability
(NCeH;CHgHs (1) C¢H; — CH — CH = CH, (1)
CH; — CH — CH; (V) C¢H; — CH — CH; (V)

CH;CH = CHCH,CH, (VI) CH; — CH, — |C' — CH,

CH;

Al>II>IV>CI>HI>V
BVI>V >1IV >1III >1I >1
CI>II>III>IV >V >VI

D.I>IV >VI>V >1II > 1III


https://dl.doubtnut.com/l/_X5jI48kPplxm
https://dl.doubtnut.com/l/_z3qBvLnJt82E

Answer: A

o View Text Solution

12 3 4
19. In the following compound H — C =C — CH, — CH3 the

hybridization of C2 and C3 carbons are respectively .
A. sp® and sp®
B. sp® and sp®
C.sp? and sp

D.sp® and sp

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_z3qBvLnJt82E
https://dl.doubtnut.com/l/_kby9X6CSTb3b

20. Correctly matched option stability of compound in each of the

following pairs :

CH;CH = CHCHCH = CH, < CH;CH,CH,CH>,CH = CH,
- mﬁl
u\/] “ E,‘_ A
C. ¥

- +
D.CH3CHCH = CH3CHs > CH3CH = CHCH>CH>

Answer: D

o View Text Solution

21. The hyparconjugative stabilities of tert-butyl cation and 2-butene,

respectively ,are due to


https://dl.doubtnut.com/l/_dVantX9itd8e
https://dl.doubtnut.com/l/_hbsAZm62GqVF

A.o — p(sigma)(empty ) and o — 7 electron delocalization.
* . .

B.oc — o and o — w electron delocalization.

C.o — p (filled ) and ¢ — m electron delocalization.

D.p (filled) — o and o — 7 electron delocalization .

Answer: A

° View Text Solution

22. Which of the correct stability order of oxy anions given below ?

ih cn—cﬁﬂ (i %\
"a )

CH,
nn i !1—11'—u (V) CH,—CH,—D
CH,

A (II) > (I) > (IV) > (III)


https://dl.doubtnut.com/l/_hbsAZm62GqVF
https://dl.doubtnut.com/l/_hcTqdk83KHcI

B.(I) > (II) > (III) > (IV)
C.(II) > (I) > (III) > (IV)

D.(I) > (II) > (IV) > (III)

Answer: D

o View Text Solution

Additional Objective Questions Multiple Correct Choice Type

1. Which of the following is not resonating structure of each other ?


https://dl.doubtnut.com/l/_hcTqdk83KHcI
https://dl.doubtnut.com/l/_8sBgNhVHPsoA

-0

Answer: B::D

o View Text Solution

2. Which of the following pairs are resonance structures of each other

?
A.
o on
H,c)\cu,  He C\ﬂ,
B.
D. )
Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_8sBgNhVHPsoA
https://dl.doubtnut.com/l/_XZgUZB1G1A7P

Additional Objective Questions Linked Comprhension Choice Type

1. The theory of resonance was developed primarily by Pauling in the
1930s. According to this theory , many molecules and ions are best
described by writing two or more Lewis structure and considering the
real molecule of ion to be a composite of these structures .They are
also sometimes referred to as resonance structures or resonance
contributors . We show that the real molecule or ion is a resonance
hybrid of the various contributing structures by interconnecting them
with double headed arrows . Resonance structures are not in

equilibrium with each other .
<) ge
. —
So NG )


https://dl.doubtnut.com/l/_XZgUZB1G1A7P
https://dl.doubtnut.com/l/_imxLehBodXbc

Find out the stability order of intermediate .

Me. . _OMe
ow Y M ~__-OMe
Me .

amn -~ OMe (V) H,C — OMe

Al >II>III>1V
B.I >1II>1V > 1III
CIV >1>1I >1I1

D.III > 1> 11 > 1V

Answer: B

o View Text Solution

2. The theory of resonance was developed primarily by Pauling in the
1930s. According to this theory , many molecules and ions are best

described by writing two or more Lewis structure and considering the


https://dl.doubtnut.com/l/_imxLehBodXbc
https://dl.doubtnut.com/l/_V4ILp3eblZBx

real molecule of ion to be a composite of these structures .They are
also sometimes referred to as resonance structures or resonance
contributors . We show that the real molecule or ion is a resonance
hybrid of the various contributing structures by interconnecting them
with double headed arrows . Resonance structures are not in

equilibrium with each other .

O

/
=

(1) ] (an

(1T}



https://dl.doubtnut.com/l/_V4ILp3eblZBx

Al >II>III>1V

B.II > 1> 1II >1V

CIII >1II >1>1V

D.I > III >1II > 1V

Answer: A

o View Text Solution

3.The bond length between C2 and C3 in acrutl aldehyde is not equal
to the bond length between carbons of ethene because in acryl
aldehyde double is in conjugation , so it it shows resonance which
results in an increase in the bond length between C2 and C3 in acryl

aldehyde .


https://dl.doubtnut.com/l/_V4ILp3eblZBx
https://dl.doubtnut.com/l/_QavVFbMWYs65

Y ¥ §
Cll,—m{‘li =0 & CH—CH=CH—0:

(3 2y (1) (3 (2)y (1)
Fesonance Resonance
struciure (B} structure (11}

+d -

Resonance  CH,~=CH==CH==0
Hybrid (3 2y (1)

Which compound will not show the resonance ?

o O O


https://dl.doubtnut.com/l/_QavVFbMWYs65

Answer: B

o View Text Solution

4.The bond length between C2 and C3 in acrutl aldehyde is not equal
to the bond length between carbons of ethene because in acryl
aldehyde double is in conjugation , so it it shows resonance which

results in an increase in the bond length between C2 and C3 in acryl

aldehyde .


https://dl.doubtnut.com/l/_QavVFbMWYs65
https://dl.doubtnut.com/l/_olBIEj8CABby

5" + i}
c}l,—mru = — CH—CH=CH —0

(3 2y (1) (3) (2) (1)
Resonance Resonance
struciure (1) structure (11}

+d -8

Resonance (CHeesCHwu(CH==()
Hyhbrid (3 (2} (1)

Which compound does not have the conjugative system to show the

resonance ?

A.CH, = CH — CH = CH — CH, — CH,

ik

'CH,


https://dl.doubtnut.com/l/_olBIEj8CABby

Answer: D

o View Text Solution

5.The bond length between C2 and C3 in acrutl aldehyde is not equal
to the bond length between carbons of ethene because in acryl
aldehyde double is in conjugation , so it it shows resonance which
results in an increase in the bond length between C2 and C3 in acryl

aldehyde .

N )

+
CH,=CH—CH=( &—— CH,—CH=CH —0)

(3 2y (1) (3)  (2) (1)
Fesonance Resonance
struciure (1) structure (1}

+d -8

Resenance CH,=CH==CH==0
Hybrid (3 (2) (1)


https://dl.doubtnut.com/l/_olBIEj8CABby
https://dl.doubtnut.com/l/_4lxJIUhapdwj

Find out the correct statement (s) about the given compound ?

5|

A.Bond length between C2 and C3 = Bond length between C5 and

C6.

B.Bond length between C1 and C2 = Bond length between C6 and

C7.

C.Bond length between C6 and C7 < Bond length between C3

and C4.


https://dl.doubtnut.com/l/_4lxJIUhapdwj

D.Bond length between C2 and C3 < Bond length between C3

and C4

Answer: C

o View Text Solution

Additional Objective Questions Integar Type

1. Total number of resonating structures in the following compound is

o

o View Text Solution



https://dl.doubtnut.com/l/_4lxJIUhapdwj
https://dl.doubtnut.com/l/_VdjmwuXYEk6b

2. Total number of a - hydrogen in the following compound is

o View Text Solution

Additional Objective Questions Matrix Match Type



https://dl.doubtnut.com/l/_xiImOp31tAhN

Colummn [ Column 11

{a) {p) Resonance
' stabilization in the

is 2-chloro-

{b) I iq) IUPAC name
cvclobutenol

HO

ic) | (r) TUPAC name is

(d) I is) Resonance is not
possible

o View Text Solution



https://dl.doubtnut.com/l/_Ywh2IMFsW501

